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I. Fill in the blanks.                                                                                           (5) 

a. A piece of cake is divided into 10 equal parts. 8 parts are taken. The fraction 

taken is ___________ . 

b. 17

25
  _________  

19

25
      ( Insert  < , > , =  ) 

c. 1

3
 of 18  = _________ . 

d. 17 m = ____________cm. 

e. 5  kilometres  = _________ m. 

f. If we divide a whole into 2 equal parts ,each part is called a ______________. 

g. 1

2
   =  

3
 

h. 2000 cm = ______________ m. 

i. 6262 m = _______________ km   ____________m.  

j. The standard unit used to measure the length of a pencil is _____________ . 

  

II.  Write  2 equivalent fractions for  
𝟐

𝟓
 .                                                    (1) 

 ________________________________________________________________ 

 ________________________________________________________________ 

  

III. Add    
𝟏𝟐

𝟐𝟑
  + 

𝟓

𝟐𝟑
 + 

𝟑

𝟐𝟑
 .                                                                           (1) 

 ________________________________________________________________ 

  

IV. Arrange the following fractions in ascending order.                                  (1) 

a. 5

13
 ,   

7

13
  ,   

3

13
  ,   

8

13
 

 ________________________________________________________________ 



 

 

VII. Read  carefully and solve.                                                                               (3) 

a. There were 18 flowers in a garden. Reena plucked one - third of them. How 

many flowers did she pluck? 

  

  

  

  

  

  

  

  

 

V a.  Add.                                            (1)    b.  Subtract                                   (1) 

             m                    cm               km                    m 

  

       3    3     8            4      6         4    5    6            8   2    4 

 +          8     4           2      3  -     3     3    4            0   3    6 

  

VI  a. Convert  into  metres.              (1)   VI. b. Convert  into  centimetres.    (1) 

           8 km   84 m              88 m    50  cm  

  

  

  

  

  



b. Rohit had 64 m 10 cm of rope.  42 m 30 cm was used to make a swing. How 

much rope was left with Rohit ? 

  

  

  

  

  

  

  

   

VIII.  Mental Maths .                                                                                             (5) 

1.______________________                                        6.______________________ 

2.______________________                                        7.______________________ 

3.______________________                                        8.______________________ 

4.______________________                                        9.______________________ 

5.______________________                                       10._____________________ 

 

                                            ROUGH WORK 


